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Question 1
Question Type: MultipleChoice

Which of the following statements regarding DIS election is correct?

Options: 
A- When the priority is the same, the router with higher IP address will be elected as the DIS.

B- When a DIS fails, the backup DIS will take over.

C- The IS-IS router with the highest priority in the whole broadcast network will be elected as the DIS.

D- DIS election is configured manually.

Answer: 
A, B, C

Question 2
Question Type: MultipleChoice



BGP Is an exterior gateway protocol which runs among ASs. It focuses on routes control and selection of optimal routes rather than

discovery and calculation of routes.

Options: 
A- True

B- False

Answer: 
B

Question 3
Question Type: MultipleChoice

Which of the following statements disobey the basic principle of area division?

Options: 



A- If the ISP runs OSPF protocol in the whole province network, then one city can be taken as one area.

B- In the network, there are some sub networks such as 110.1.1.0/24,110.1.2.0/24,110.1.3.0/24, 120.1.1.0/24,120.1.2.0/24

,120.1.3.0/24.Then all the routers belonging to 110 network can be configured in one area.

C- One network maybe includes high-end, mid-end and low-end routers. Generally, all of these routers will be in same area.

D- Make all routers with larger routing-table into one area.

Answer: 
A, B, D

Question 4
Question Type: MultipleChoice

Which of the following statements is correct regarding Hellolnterval in OSPF?

Options: 
A- The range of Hellolnterval is from 0 to 65535.

B- Hellolnterval can be modified by administraor.The smaller the value, the faster (he topology change discovery.



C- Hellolnterval is 10 seconds for NBMA and broadcast network by default.

D- Hellolnterval is 30 seconds for P2P and P2MP network by default.

Answer: 
A

Question 5
Question Type: MultipleChoice

When router receives two instances of one LSA at the same time, it will first compare LS age, If same ,Uien compare LS Sequence

number.

Options: 
A- True

B- False

Answer: 
B



Question 6
Question Type: MultipleChoice

Which of the following statements about traffic policy In CBQ configuration ate correct?

Options: 
A- Traffic policy nesting means one QoS policy contains another QoS policy, the behavior of the parent policy Is a sub-policy.

B- Traffic policy is used to bind traffic classifier with traffic behavior.

C- Traffic policy can be nested infinitely.

D- The traffic policy applied to some interface can not be deleted.

Answer: 
A

Question 7



Question Type: MultipleChoice

Which of the following statements about CAR are correct?

Options: 
A- CAR uses token bucket mechanism to measure traffic and allocate bandwidth.

B- CAR can be used for incoming interface and outgoing interface.

C- CAR and queue scheduling cannot be used at the same time because of confliction.

D- CAR can be used to limit the rate of the specific type of traffic.

Answer: 
C

Question 8
Question Type: MultipleChoice

Assuming that a router which only supports IP Precedence receives a packet marked with DSCP, which of the following statements is

correct?



Options: 
A- The last three bits of DSCP are set to 101.

B- Eight levels of AF in DSCP are mapped into eight levels of IP Precedence.

C- The first three bits of DSCP are mapped into three bits of IP Precedence.

D- All 8 bits of TOS are set to zero.

Answer: 
B
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